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. Ww#waﬁ?##gﬁ%gﬁf?ﬂw#@ﬂwwgﬂfaaﬁ? TiET %
FYUT 59 T § 23 4 @ @hE 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G [F35T -

(i)

(i)

(iii)
()

(v)

T8 J97-F T G 7 e & -

9T — & : STTTHE TeIT TF QEaTe @Il

T - § : F G GF [T el @7 [eayn

T - & : BRGNP A7)

T — & A 81 TR oTyH FT F T - F T T - T F @ T
9T BT &1/

T J97 &T 7 &1 HAF H9T F % ID THT 9T T &

g7 & 1 @ 6 J 12 77 13 % Ja7 15 @ 20 I 7 /@ qor g97
GET7T 10 714 T 16 3 7 40 @ 50 I 7 gy

797 F&q 11, 17 77 18 7 ol §¢ 397 &1

General Instructions :

(i)

(i1)
(iii)
(iv)
v)

This question paper is divided into three Parts :

Part — A : Not for Profit Organizations & Partnership Accounts
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

Part — A is compulsory. Candidates have to attempt any one part
from Part — B and Part - C of their choice.

All questions are to be attempted. Marks of each question are
indicated against it.

Give answer Question Nos. 1 to 6 and 12 & 13 in 15 to 20 words
and Question Nos. 7 to 10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos. 11, 17 and 18.
T - A
PART - A
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(3) 3608/(Set : A)
(STl e O wEErd @)

(Not for Profit Organizations & Partnership Accounts)

1. THidq MR @ aoF i) 1

Explain the Endowment Fund.

2. GEERI & IO @ 9o A O Pl g% SR fomay 1

Write any one difference between Partner's Capital Accounts and
Current Accounts.

3. EEN BH & JFeT § H oTRH 8 1
What is meant by Reconstitution of Partnership Firm ?
4. i i qRwm AT 1

Define Goodwill.

5. T AR A 5:3F orgu F AT ded gr AR B W A L W
Y HEER & 9§ %4 A gas A T T4 ae-eie oud S div 1
'A' and 'B' are partners sharing profit & loss in the ratio of 5 : 3. 'C' is

admitted to the partnership for %th share of future profits. Calculate

the new profit sharing ratio.

6. TEER H GUNT 9 B & GHOE § His O o= ey 1

Write one distinction between dissolution of partnership and
dissolution of firm.

7. 99 R T W & O g I @ qe stfaRed gEeel 8 31 REwg,
2016 H TG T & [T ‘TH-FT QAT TGR B 4

qiT § T Gl
(31 Raw, 2016 7 775 75 )

aifer ' kil
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Y TR T 19,000 | Ia9 33,000
=T ure 66,000 | @F & GEE 40,000
EREINR I 4,000 | Y SR & ST T | 16,000

89,000 89,000

(i) @G T 2,000 F =&, g9 2015 F ¥ 2016 H 9« 6T &
(i) Iq9 11 98 & & =@ T B

(i) O F FHE 31 &R, 2015 @ ° 30,000 R 31 =R, 2016 & °
65,000 H & Al

From the following is the Receipts and Payment Account of a Club and
from the additional informations, prepare Income and Expenditure
Account for the year ending 31st December, 2016 :

Receipts and Payments A/c

(For the year ending 31st December, 2016)

Receipts ' Payments
To Balance B/d 19,000 | By Salaries 33,000
To Subscriptions 66,000 | By Sports materials 40,000
To Interest on By Balance C/d 16,000
investment 4,000
89,000 89,000

Additional informations :

(i) The Club had received subscription in the year 2015 for 2016, °
2,000.

(i) Salaries had been paid for 11 months only.

(ii) Stock of sports materials on 31st Dec., 2015 has * 30,000 and on
31st, Dec., 2016 " 65,000.

8. T, W AN W 4:3:3% MU { AH-B(MT sed gL ABRER &I ITbl il
Tt sAs: © 1,00,000, ° 2,00,000 SR 3,00,000 %? T§ 2016 & Tt W
S 9% s & % T 10% aAlYh &30 M SAaeaes i S di

4
3608/(Set : A)



10.

(5) 3608/(Set : A)
'A', 'B' and 'C' are partners in a firm sharing profits and losses in the
ratio of 4 : 3 : 3. Their fixed capitals were * 1,00,000, * 2,00,000 and
© 3,00,000 respectively. For the year 2016 interest on capital was
credited to them @ 10% instead of 9% p.a. Pass the necessary adjusting
journal entry.

W ARG 3 : 2 F oA F A A gu W B oW B R § A
R § yag fRan 9 o RE @ @i TwE AW F oremd B WH & e
H gFT © 1,05,000 f&am mm Tasaes gt w4

'C' and 'D' are partners sharing profits in the ratio of 3 : 2. They admit

'E' into partnership for %th share. 'E' is unable to bring goodwill in

cash. The goodwill of the firm is valued at * 1,05,000. Give necessary
journal entry.

Rurclt g T9ed 3 @ 2 B U § Aw-gw dfed gU U FH F ARRR & S
31 RE=R, 2016 ® B4 & THOE & MU foan, 59 S Rafq foawer 59 uer
o :

FANIT ‘ AT
EQIREIE = qREEhE | 16,000
fRurlt 18,400 fafamT 4,000
@R 10,600 | 29,000 | ffag =R 2,000
fafqe e 2,000 | ©f® 3,000
Abe SH 6,000
31,000 31,000

faf@m © 3,800 ¥ S U, AW FERET 39 UHR @ 99 R : W@l TREHeEr
28,000, fafay I_ER ° 1,800 T e * 2,800

3608/(Set : A) P.T.O.



(6) 3608/(Set : A)
FH & ATER 5% B9 A4 T HEHd & T FRE B e ) g
400 B TG GRT TAR FHiT) 4

Dipali and Rajeshary are partners in a firm sharing profits and losses
in the ratio of 3 : 2. They decided to dissolve their firm on 31st

December, 2016, when their Balance Sheet was as under :

Liabilities ) Assets
Capital A/c : Freehold property | 16,000
Dipali 18,400 Investment 4,000
Rajeshary 10,600 | 29,000 | Sundry Debtors 2,000
Sundry creditors 2,000 | Stock 3,000
Cash at Bank 6,000
31,000 31,000

Investment were sold at * 3,800, other assets were realised as fallows :
Freehold property * 28,000; Sundry Debtors * 1,800 and Stock * 2,800.

Creditors of the firm agreed to accept 5% less. Expenses of the
realisation of assets amounted to * 400. Prepare a Realisation Account.

11. 318/, 2017 & ‘@ R ‘& & Rufy fFawor 39 v 2 -

FaENIT ke

‘T H G 60,000 | &= Tl 20,000
" #; G | 30,000 | FHE 6,000
= 24,000 | €% 12,000
EEES 16,000 | 3&R 80,000
G 12,000

1,30,000 1,30,000

‘T IR T F AT AT 2 : 181 F W W@ B A yAw & fow o ot

) 9eAd ¢ :
(@) ‘9 21,000 AT FEF 9,000 TG & T T9H SR

3608/(Set : A)



(7) 3608/(Set : A)
(b) wﬁm%wﬁﬁ‘d’r’wﬁw%ﬂm@m
(c) WM €T & 50% AT o 9 Hiad e W AN & g &I
(d) WHER | 5% U @ 2
(e) ¥i® ® 10,500 X Y: HedichT fehAT TN
g @, $of @ 9 5 FH B Rl faerer tur Sk
8

The Balance Sheet of 'A' and 'B' as on 31st March, 2017 is given below :

Liabilities ' Assets
A's Capital 60,000 | Freehold
property 20,000
B's Capital 30,000 | Furniture 6,000
General Reserve 24,000 | Stock 12,000
Creditors 16,000 | Debtors 80,000
Cash 12,000
1,30,000 1,30,000

'A' and 'B' share profits and losses in the ratio of 2 : 1. They agree to
admit 'P' into the firm subject to the following terms and conditions :

(@) 'P" will bring in * 21,000 of which * 9,000 will be treated as his
share of goodwill to be retained in the business.

(b) 'P'is entitled to %th share of profits of the firm.

() 50% of the General Reserve is to be remain as a provision for bad
and doubtful debts.

(d) Furniture is to be depreciated by 5%.
() Stock is to be revalued at * 10,500.

Prepare Revaluation Account, Capital Accounts and Opening
Balance Sheet of the new firm.

HYAT
3608/(Set : A) P.T.O.



(8) 3608/(Set : A)
OR
HERR ® g H & § I R & o9 Bl TN B QRE H SEe
ISR EIRY 8

Explain with examples various methods of computing the share of
profits in case of death of a partner.

T -9
PART - B
(=t @ e fasi foaRelt & favawon)
(Company Accounts & Analysis of Financial Statements)
12. g @t & fsdver & #1 & 9 e 1
Write any two limitations of Financial Accounting Analysis.
13. i ferer fasawer & @8 & "o fof 1
Write any two significance of Financial Statement Analysis.
14. ¥ § T FEel § O YU S i 4
& = 1,00,000
fafey e 1,50,000 | ffag RR
172,000
T o 20,000 | e :
ey Ssq
W dESE 2,000 70,000
&g % [T AR 10,000 | & # {%g 15,000
6% RO 2,00,000 | % & e 1,10,000
WU g AL 3,00,000 | FeTHi fafEeT 1,50,000
ARG e 1,35,000 | qaed &0 5,000
Calculate 'Quick Ratio' from the following informations given below :
Bank Loan 1,00,000

3608/(Set : A)
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Sundry Creditors 1,50,000|Sundry debtors

172,000
Bills payable 20,000(Less : provision for
Creditors for doubtful debts
expenses 10,000 2,000 70,000
Cash in hand 15,000
6% Debentures 2,00,000|Cash at bank 1,10,000

Plant & Machinery 3,00,000(Short-term investment 1,50,000

Stock in trade 1,35,000|Prepaid insurance 5,000
15. W9 ofslt & Nftpm w e e @ @, @ ot & & @ ufaftedr i o9
11 2 e 2 M U 4
() < T g,
(i) g & Tl

Write journal entries of share forfeiture when the share have been
issued at premium; when amount of premium :

(i) not received,

(ii) received.

16. 3igT @ F W FFEE @ gei-ag @ gagH § 7 [k 4

What are the provisions regarding issue of share at discount ? Write.

17. ‘TaE’ fafres @ onfiie fogr 39y ® -

FIEnIT 1-1-16 | 31-12-16| GG | 1-1-16 |31-12-16
o s G 1,00,000| 1,00,000| %S 10,000| 7,200
e = 1,00,000| 1,00,000| 3R 70,000 76,800
AH-BI @Il 96,000| 98,000| &IH 50,000 44,000
EISE S 72,000  82,000| H{H 40,000/ 60,000
TS H9 o O - 40,000| HIT 1,00,000| 1,10,000
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6 & T 62,000 50,000| T 1,60,000| 1,72,000

4,30,000| 4,70,000 4,30,000] 4,70,000

af & ° 52,000 @i B G G @ oasded | Uk @ emes 1-1-16
H ° 54,000 9 31-12-16 & ° 72,000 FH 91 AUH VHE YaE a0 JaR
T R 8

The Balance Sheet of 'ABC' Ltd. is as follows :

Liabilities 1-1-16 | 31-12-16| Assets 1-1-16 |[31-12-16
Equity Capital 1,00,000| 1,00,000|Cash 10,000 7,200
General Reserve 1,00,000| 1,00,000|Debtors 70,000| 76,800
Profit & Loss A/c 96,000 98,000(Stock 50,000 44,000
Current Liabilities 72,000 82,000(Land 40,000{ 60,000
Loan from Associate Building 1,00,000]| 1,10,000

company - 40,000
Loan from Bank 62,000 50,000|Machinery |1,60,000| 1,72,000
4,30,000| 4,70,000 4,30,000] 4,70,000

During the year ° 52,000 was paid as dividends. The provision for
depreciation against Machinery as on 1-1-16 was °~ 54,000 and on 31-
12-16 * 72,000. You are required to prepare the Cash Flow Statement.

HYqT
OR

AHe Y€ fTaior IR B H GO0 1 2 ? I8 Y Q9K HAr Sar B 7
REEIES] 4,4

What is the purpose of preparing a Cash Flow Statement ? How is it
prepared ? Explain.

18. = zamett ¥ worEl & i & 99 S gfafadr Hife ¢

3608/(Set : A)



(11) 3608/(Set : A)
(a) 40,000, 10% 99 J&% * 10 % T W it By o Be iem
5% SifEm I A S

(b) 7,000, 9% FGH UA® = 100 H 4% Helt W fFifad fpe T e
M 6% HfERM 9X R s

(c) 40,000, 9% FOUH JA% * 50 H FHE W R fhw T fSemr shem
Y T fopar S

(d) 25,000, 8% FO9H YA® ° 10 & 3% HftEm W i ke e
M 2% HfERE 9 R s 2,2,2,2

Pass journal entries at the time of issue of Debentures in the following
cases :

(a) Issued 40,000, 10% debentures of * 10 each at par, redeemable at
a premium of 5%.

(b) Issued 7,000, 9% debentures of * 100 each at 4% discount and
redeemable at a premium of 6%.

() Issued 40,000, 9% debentures of * 50 each at par and redeemable
at par.

(d) Issued 25,000, 8% debentures of © 10 each at a premium of 3%
and redeemable at a premium of 2%.
YT
OR

URadT S FOTET & MET § STY 1 g9 & ¢ oo Sfaftedl 3R q9enEa
4,4

What do you mean by Redemption of Debentures by Conversion ?
Explain with the help of journal entries.

i1 -9
PART - C
(el duiw)

(Computerized Accounting)

3608/(Set : A) P.T.O.
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12. TR JEEHTOT JOTGH 6l 3899 T 1
Mention the purpose of Transaction Process System.
13. ST ST & 8 ? 1

What is data processing ?

14. FFLUHT qEiEw ome F e R e 4

Explain the different features of Computerised Accounting System.

15. IS oiR IR & THad| 4
Explain Validation & Verification.
16. S[ISE Y+ T & ST 7§ 4
What are the uses of Database Management System ?
17. RUE &1 8 ? ROE 99 & 0 Tl © ° 2,6
What is Report ? What are the methods of creating a report ?
YT
OR
‘qBde’ g9W & faf= ahw & avie i 8
Explain the different methods of creating 'Query’.
18. TIeeiic T & ¢ T FAI H I°M Hiom 2,6
What is spreadsheet ? Give its functions.
SHYqT
OR
glesiic & IQA & au o 8

Explain the application of spreadsheet.

3608/(Set : A)
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. Ww#waﬁ?##gﬁ%gﬁf?ﬂw#@ﬂwwgﬂfaaﬁ? TiET %
FYUT 59 T § 23 4 @ @hE 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 33T -

(i)

(i)

(iii)
()

(v)

T8 J97-F T G 7 e & -

9T — & : STTTHE TeIT TF QEaTe @Il

T - § : F G GF [T el @7 [eayn

T - & : BRGNP A7)

T — & A 81 TR oTyH FT F T - F T T - T F @ T
9T BT &1/

T J97 &T 7 &1 HAF H9T F % ID THT 9T T &

g7 & 1 @ 6 J 12 77 13 % Ja7 15 @ 20 I 7 /@ qor g97
GET7T 10 714 T 16 3 7 40 @ 50 I 7 gy

797 F&q 11, 17 77 18 7 ol §¢ 397 &1

General Instructions :

(i)

(i1)
(iii)
(iv)
v)

This question paper is divided into three Parts :

Part — A : Not for Profit Organizations & Partnership Accounts
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

Part — A is compulsory. Candidates have to attempt any one part
from Part — B and Part - C of their choice.

All questions are to be attempted. Marks of each question are
indicated against it.

Give answer Question Nos. 1 to 6 and 12 & 13 in 15 to 20 words
and Question Nos. 7 to 10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos. 11, 17 and 18.
T - A
PART - A

3608/(Set : B)
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(ST e O wEErd @)

(Not for Profit Organizations & Partnership Accounts)

1. faQ9 T @ guie ST 1

Explain Special Donation.

2. F gEEN s fafag § & e ® ? 1

Is it necessary to have a partnership agreement in writing ?

3. $3 § I TABT FFH TF AEER BH F GTe o sl 1

State any two occasions when reconstitution of a partnership firm take

place.

4. SR H JUN BT 1

Explain Super Profit.

5. T AR T 3 : 2 F oy F el dred g W B A A
e & & gaer R T@m T8 ae-elie STgue @ M S
'M' and 'L' are partners sharing profit & loss in the ratio of 3 : 2. 'N' is
admitted to the partnership for %rd share of future profits. Calculate

the new profit sharing ratio.

6. UT & AT SAEY S SR AEEr) B WYS & S 2 1
Give two circumstances under which a partnership firm is dissolved.
7. 31 RE=R, 2016 H @< M a1 99 & [C TF Wied &9 & MG q FEAA
T SR gEA St e B, @ HeEd @ STE-a @Il oA die ¢ 4
‘ j
3608/(Set : B) P.T.O.




(4) 3608/(Set : B)

AFs A9 3T aaq 18,000
AR T 9,500

eal 33,000 | @ & M 20,000

o W == 2,000 | ke A T
ST T 6,500

44,500 44,500

(i) @9 31-12-2016 & JABH I=1 * 1,000 T e

(i) BT B GHM H WH 31-12-2015 H ° 15,000 R 31-12-2016 H °
32,500 |

From the following 'Receipts and Payment' Account of a Sports Club
and additional information, prepare Income and Expenditure Account
for the year ending on 31st Dec., 2016 :

Receipts ' Payments

To Balance B/d 9,500 | By Salaries 18,000
To Subscriptions 33,000 | By Sports Materials 20,000

To Interest on By Balance C/d 6,500
Investment 2,000

44,500 44,500

Additional informations :

(i) The Club had received * 1,000 in advance subscription on 31-12-
2015.

(i) Sports materials stock on 31-12-2015 was * 15,000 and on 31-12-
2016 * 32,500.

8. T, @ R A 4 :3:3 % UA ¥ A-sIfF dfed 5T WEER 2| I R
Sl A 1,00,000, ° 2,00,000 @R ° 3,00,000 & EER & @A &4 fQ
T G B T H AT TN AR F GO =@ 6 P W 5% aiid & 4
xwﬁmw,aaﬁsa@mﬁwﬁ&wmmﬁm HAEiT  Sfafte

| 4
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(5) 3608/(Set : B)
'A', 'B' and 'C' are partners in a firm sharing profits and losses in the
ratio of 4 : 3 : 3 and their fixed capital were * 1,00,000, * 2,00,000 and
* 3,00,000 respectively. After the accounts of partnership have been
drawn up and the books closed off, it is discovered that interest has
been credited to the partners upon their capitals at 5% per annum
although, no provision for interest is made in the partnership
agreement. Made adjustment entry.

9. TR 9 AR’ 2 : 1 & UM ¥ @M Sfed g HERER ol I YR § e
g 10,000 frer g B S A A F R wderd F s R v Sy
& ‘TR $IR ‘9B’ § TUSK 99 &M 8l 98 1,50,000 Yot & €Y H AR R
A foE ) @ =T & © 8,000 THE @M H IFEHY Tl M@ gfaftedr Hw 4

'X' and 'Y' are partners sharing profits in the ratio of 2 : 1. Their books

showed goodwill at *10,000. 'Z' is admitted with éth share of profits

which he acquires equally from 'X' and 'Y'. He brings * 1,50,000 as his
capital but is not able to bring in cash his share of goodwill * 8,000.
Give journal entries.

10. ‘T AR G 2 : 3 % IFIUN H AW-al dled gU AEER o I 31 RERR,
2016 B BH b GHGT P Haar a1, 9 S RIfq feor g mpr a2 4

FIEIIT ‘ AT
TS @ I FfEt 8,000
T 9,200 fafeaT 2,000
" 5,300 | 14,500 | I&R 1,000
e 1,000 | ®i% 1,500
% & Ak 3,000
15,500 15,500

3608/(Set : B) P.T.O.



(6) 3608/(Set : B)
fafRiT © 1,900 & 33 Tg; o @Rl @ agAl 39 SR g 0 Rl ek
14,000; 3T&R * 900; &% * 1,400 BH & TER 5% FT o W HeAd & T
IYH T 200 Bl FYH @GR AR B

'A' and 'B' are partners in a firm sharing profits and losses in the ratio
of 2 : 3. They decided to dissolve their firm on 31st Dec., 2016, when
their Balance Sheet was as under :

Liabilities ) Assets
Capital A/c : Fixed Assets 8,000
‘A" 9,200 Investment 2,000
'B'" 5,300 | 14,500 | Debtors 1,000
Creditors 1,000 | Stock 1,500
Cash at Bank 3,000
15,500 15,500

Investment were sold at * 1,900, realised from Fixed Assets : * 14,000;
Debtors * 900 and Stock * 1,400. Creditors of the firm agreed to accept
5% less. Realisation expenses is * 200. Prepare a Realisation Account.

11. 31 94, 2017 & ‘0 IR ‘@ N RIfT f9awer 39 96K ©

FaRIIT ' AT
9 @ T | 15,000 | T 10,000
‘w H G| 30,000 | HHEX 3,000
qH 99 12,000 | €f®h 6,000
e 8,000 | IT&X 40,000
LG 6,000
65,000 65,000

G AR A8 1 2 IR F Sfed 2| T o/l WO @ |eeEr §
AT far
(@) ‘e * 10,500 TRFT T & ° 4,500 I6& & & & & S

3608/(Set : B)



(7) 3608/(Set : B)
(b) ‘w’ww‘%mﬁﬁ%m@m
(€ TR W 5% Ur @mar smm

(d) EfH & qedichd © 5,250 W oA T

IR G EI, AR & Yo @0 g 73 G P REfd R tan
| 8

The Balance Sheet of 'P' and 'Q' as on 31st March, 2017 is given below :

Liabilities ) Assets
P's Capital 15,000 | Property 10,000
Q's Capital 30,000 | Furniture 3,000
General Reserve 12,000 | Stock 6,000
Creditors 8,000 | Debtors 40,000
Cash 6,000
65,000 65,000

'P' and 'Q' share profits and losses in the ratio of 1 : 2. They agree to
admit 'R' into the firm subject to the following terms and conditions :

(@) 'R'" will bring in * 10,500 of which * 4,500 will be treated as his
share of goodwill.

(b) 'R'is entitled to %th share of profits of the firm.

(¢) Furniture is to be depreciated by 5%.
(d) Stockis to be revalued at * 5,250.

Prepare Revaluation Account, Capital Accounts and Balance Sheet
of New firm.

HYAT
OR

3608/(Set : B) P.T.O.



(8) 3608/(Set : B)
T TN A T TS ST & 1 T & ¢ 3T Al § 1 AR o
2,2, 4

What do you understand by Sacrificing Ratio and Gaining Ratio ? What
is the difference between two ?
T -9
PART - B

(Tt @ra e foi el @ favq)
(Company Accounts & Analysis of Financial Statements)

forlig faeent & fasqwer @ oy 91 g9sa 2 ° 1

What do you mean by Financial Statement Analysis ?

12.

13. foRig fEaXell & fascor & el 0% < &1 avi HioTg 1
Explain one tool of analysis of Financial Statement.
14. 7 gEmell | ‘= STJu’ S i ¢ 4
KEERS 85,000 | FUMNE el 70,000
Il & fom der 5,000 | &R 72,000
I arfafaemd 50,000 | B9 & e 28,000
6% FEOTH 1,00,000 | §% & J%g 1,00,000
woe g Al 1,50,000 | e faff@im | 50,000
qded & 5,000
Calculate 'Current Ratio' from the following informations given below :
Creditors 85,000(Stock in Trade 70,000
Creditors for Exp. 5,000|Debtors 72,000
Bank Overdraft 50,000|Cash in Hand 28,000
6% Debentures 1,00,000|Cash at Bank 1,00,000
Plant & Machinery | 1,50,000|Short-term Investment 50,000
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‘Prepaid Exp. ‘ 5,000

15. S f6q MQ ofslt @ Fekd W A R &t o ofaftedt @i 4

Write journal entries of re-issue of forfeited shares at discount upto
forfeiture amount.

16. 3l 3 9 W HfE9 & W& 9 & 9RAE A1 ffafeE, 1956 @ 4w
78 T qUN oI 4

Explain the Section 78 of Indian Companies Act, 1956 regarding use of
premium on issue of shares.

17. ‘Ued IR S’ [Wfes & Rufq faawr 59 5&r § ¢

FTRIRT 1-1-15 | 31-12-15| &®fAT | 1-1-15 |31-12-15
T it 50,000/  50,000[qFE 5,000 3,600
e q9 50,000/  50,0003F&R 35,000/ 38,400
TS &9 § FOT | - 20,000 &% 25,000/ 22,000
A-BI T 48,000 49,0009 20,000/ 30,000
ESERE] 36,000  41,000|9a" 50,000/ 55,000
% & T 31,000  25,000[FsfF 80,000/ 86,000
2,15,000| 2,35,000 2,15,000| 2,35,000
9§ & X ° 26,000 H S FebEm T qAS B e Ur @ e 1-1-
2015 & ° 27,000 AR 31-12-2015 & * 36,000 1l AHS Yare
frarer A #ifety 8
The Balance Sheet of 'XYZ' Ltd. is as follows :
Liabilities 1-1-15 | 31-12-15| Assets | 1-1-15 |31-12-15
Equity Capital 50,000/  50,000|Cash 5,000/ 3,600
General Reserve 50,000 50,000|Debtors 35,000 38,400
Profit & Loss A/c | 48,000/  49,000|Stock 25,000| 22,000
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Current Liabilities | 36,000 41,000(Land 20,000/ 30,000

Loan from Associate Building 50,000| 55,000
Company — 20,000

Loan from Bank 31,000 25,000|Machinery | 80,000 86,000

2,15,000| 2,35,000 2,15,000] 2,35,000

During the year ° 26,000 was paid as dividend. The provision for
depreciation against Machinery as on 1-1-2015 was ~ 27,000 and on
31-12-2015 * 36,000. You are required to prepare the Cash Flow

Statement.
e
OR
b JaTE’ IR HIOT Aehg FaTe [aRer & IEedl Hl avi o
2,6

Define the term 'Cash Flow'. Explain the objects of Cash Flow Analysis.

18. FOH & i & THg e Rafodll & oM@ ufafe @R
(@) 30,000, 7% T W Y% ° 50 & 2% Feril X FHma e owew Mew

I T B &

(b) 5,000, 6% FUH TEF © 10 H 2% SitEy ) g g e siee
5% Hiftem W & 2

(c) 2,000, 5% UG &% * 100 H T W Fridd U S e 3%
fiftem 9 2 2

(d) 10,000, 9% FOF YA%F * 10 &H 10% HEEm ) it e, e e
10% HffEm @ 8 R 2,2,2, 2

3608/(Set : B)



(11) 3608/(Set : B)

Pass journal entries at the time of issue of Debentures in the following
cases :

(a) Issued 30,000, 7% debentures of ° 50 each at discount 2% and
redeemable at par.

(b) Issued 5,000, 6% debentures of * 10 each at 2% premium and
redeemable at a premium of 5%.

() Issued 2,000, 5% debentures of * 100 each at par and redeemable
at a premium of 3%.

(d) Issued 10,000, 9% debentures of ° 10 each at a discount of 10%
and redeemable at a premium of 10%.

HYql
OR
1 1 faaveT S 4, 4
(i) OO & OO F & ofve, qe
(ii) YA F A K G M
Discuss the following :
(i) Redemption of debentures out of capital, and
(i) Redemption of debentures out of profits.
i1 -9
PART - C
(Fraetga dai)

(Computerized Accounting)

12. FYHT q@iHT § A9 F1 T3 & 7 1
What do you mean by Computerised Accounting ?
13. TR dfaftedr w8 ? 1

What is Adjusting Entry ?

14. E&ENAT IoTell W HGGd q@ich Ioel & His e o e 4
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Give any four advantages of Computerised Accounting System over the
Manual System.

15. ST NAkT e & fr ysr #@r 2 ? 4

What are the different types of Data Processing System ?

16. CAS &l G H qUH Hifoq) 4
Explain Security of CAS.

17. U UE-UHHE ¥ o3 & # YBam® & & &= =00 $l 9o i) 8

Describe in steps the design view method to create a query to MS-

Access.
HYAT
OR
TH UE-UHAE At § dlicm S B SieE & v i
8

Explain the procedure for creating table in MS-Access Basics.

18. Tsslic § MU 1 T © ¢ SIVAE-JRAH IR FH B FE H SRR W
I 2,6

What do you understand by Spreadsheet ? Give difference between
work-book and worksheet.

HYAT
OR

e @) e faRae -
Write notes on the following :
(a) T ¥ A T G P ST d S 4

Inserting and deleting Rows and Columns in Spreadsheet.

3608/(Set : B)
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(b) BEde § G H @ g S 4

Inserting and deleting cells in Spreadsheet.

3608/(Set : B) P.T.O.
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. Ww#waﬁ?##gﬁ%gﬁf?ﬂw#@ﬂwwgﬂfaaﬁ? TiET %
FYUT 59 T § 23 4 @ @hE 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 33T -

(i)

(i)

(iii)
()

(v)

T8 J97-F T G 7 e & -

9T — & : STTTHE TeIT TF QEaTe @Il

T - § : F G GF [T el @7 [eayn

T - & : BRGNP A7)

T — & A 81 TR oTyH FT F T - F T T - T F @ T
9T BT &1/

T J97 &T 7 &1 HAF H9T F % ID THT 9T T &

g7 & 1 @ 6 J 12 77 13 % Ja7 15 @ 20 I 7 /@ qor g97
GET7T 10 714 T 16 3 7 40 @ 50 I 7 gy

797 F&q 11, 17 77 18 7 ol §¢ 397 &1

General Instructions :

(i)

(i1)
(iii)
(iv)
v)

This question paper is divided into three Parts :

Part — A : Not for Profit Organizations & Partnership Accounts
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

Part — A is compulsory. Candidates have to attempt any one part
from Part — B and Part - C of their choice.

All questions are to be attempted. Marks of each question are
indicated against it.

Give answer Question Nos. 1 to 6 and 12 & 13 in 15 to 20 words
and Question Nos. 7 to 10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos. 11, 17 and 18.
T - A
PART-A
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(ST e O wEErd @)

(Not for Profit Organizations & Partnership Accounts)

1. 9 9 & JO HiT) 1

Explain General Donation.

2. FEEN 909 & o9E § 9EERl & oIyl g 9 g9 e & ¢ 1

How are mutual relation of the partners governed in the absence of
partnership deed ?

3. U & 3 ARy FFH @R ST @R fR S Hed B 1

Give two circumstances in which sacrificing ratio may be applied.

4. T F & A &R 1

Give two characteristics of 'Goodwill'.

5. W SR 9Y’ 5:3 % UM A NN qled gL WEER &1 O B wH § yawr fam
T A STUC 4 : 3 : 2 B, Al AR IFUE A B 1

'P' and 'Q' are partners sharing profits in the ratio of 5 : 3. 'R’ is admitted and
the new profit & loss ratio is 4 : 3 : 2. Calculate Sacrificing Ratio.

6. TEEN B4 % GEOE 9 @ o1 B 7 1

What is mean by dissolution of partnership firm ?

7. 31 RE=R, 2016 ® T 9 H Th ARGes H AT G FHF Tl 36 TR 2 : 4

3608/(Set : C) P.T.O.
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Ui g7
Y SR A T | 14,250 | IqT 27,000
CLl| 49,500 | AiTha TR 30,000
faa WSS | 3,000 | I SR & @ WM [ 9,750
66,750 66,750

() a¥ & g& q B =7 " 1,500 B

(i) @ffed MR 31-12-2015 & ° 22,500 X 31-12-2016 H ° 48,750
2l

M- AT J9) BT

The following is the Receipts and Payments Account of an hospital for
the year ending 31st Dec., 2016 :

Receipts ' Payments

To Balance B/d 14,250 | By Salaries 27,000

To Subscriptions 49,500 | By Surgical
Instruments 30,000

To Interest on By Balance C/d 9,750
Investment 3,000

66,750 66,750

Additional informations :

(i) Subscriptions received in advance at the beginning of the year °
1,500.

(ii)) Swurgical instruments stock on 31-12-2015 has *~ 22,500 and on
31-12-2016 " 48,750.

3608/(Set : C)
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You are required to prepare Income and Expenditure Account for
the year 2016.

8. TR, AR A S’ 5 : 3 : 2 % NIUC H AH-BIM ded §L ABHRER oI IThl
& Gt 9T 2,00,000, °1,50,000 X °1,25,000 B d 2016 & faQ
TSl O & 10% & T 8% TIET TN a9 qomim gfafte v 4

X', 'Y' and 'Z' are partners in a firm sharing profits and losses in the
ratio of 5 : 3 : 2. Their fixed capital are ° 2,00,000; * 1,50,000 and
©1,25,000 respectively. For the year 2016 interest on capital was
credited to them @ 8% instead of 10%. Give adjusting journal entry.

o. W R F 2: 1 F oA ¥ a-A ey gL WK ¥ I o A
A & QB § AEER a9En ‘TR 25,000 G Q@ 18,000 =T &
Rie & & e @@m ‘o)’ F ot w0 ofR ‘g 8 qUeT o e 2
AMATH Sa Hfaftedr it 4
'P' and 'Q' are partners sharing profits and losses in the ratio of 2 : 1.

They admit 'R' into partnership for gth share of profits which he

acquires equally from 'P' and 'Q'. 'R' brings in cash * 25,000 as capital
and * 18,000 as goodwill. Pass Journal Entries.

10. ‘T &R ‘T 3 : 2 § @9-81M dfed §¢ WBRR &1 31 A/, 2017 & I B &
T 7 ) Ged & §, g ’RY o Rafd e gg e B 0 4

FRENIT ‘ =gl
‘o’ # G | 13,800 | T HEiRET 12,000
‘o B G 7,950 | fafsanT 3,000
SRER 1,500 | 3&RK 1,500
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w6 2,250
&% & s 4,500
23,250 23,250

qfdl ¥ 39 SR Gl 8

fafarT © 2,850; w@E @WREl © 21,000; ¥R 1,350 qAT € O 2,100.
A 5% Al W o1 H Geud & T qgel Fg 300 21 agel @l qar
HIToTC|

'M' and 'N' are partners in a firm sharing profits and losses in the ratio
of 3 : 2. They decided to dissolve their firm on 31st March, 2017, when
their Balance Sheet was as under :

Liabilities ) Assets
M's Capital 13,800 | Fixed Assets 12,000
N's Capital 7,950 | Investment 3,000
Creditors 1,500 | Debtors 1,500
Stock 2,250
Cash at Bank 4,500
23,250 23,250

Realised from Assets : Investment ° 2,850; Fixed Assets ° 21,000;
Debtors * 1,350 and Stock * 2,100.

Creditors of the firm agreed to accept 5% less. Realisation
Expenses is " 300. You are required to prepare a Realisation Account.

11. 31 99, 2017 & ‘T’ SR ‘A’ 1 Rufy fgavor 39 vR & -

AT ‘ A
‘TR BT | 22,500 | G 15,000
qi’ B G | 45,000 | HHER 4,500
qrH-g @@ | 18,000 | i@ 9,000
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SREIRS 12,000 | 3T&R 60,000
AFs 9,000
97,500 97,500
‘TR g ‘aR’ H AN A 2 : 1 B 4 S H M Al W qa & % R

Hewd gU
(i) SE 15,750 TR BEH 6,750 IO BE H @G B e
(i) ‘é@’tﬁﬁ%wﬁﬁﬁ%méﬁwmam
(il) HHER W 5% UM dmr sm
(iv) &fh % JTHEHT 7,875 X &A1 T
I I, WERR & Qo @i qe 78 ®H B REfd e qar i
8

The Balance Sheet of 'X' and 'Y' as on 31st March, 2017 is given below :

Liabilities ' Assets
X's Capital 22,500 | Property 15,000
Y's Capital 45,000 | Furniture 4,500
P&LA/c 18,000 | Stock 9,000
Creditors 12,000 | Debtors 60,000
Cash 9,000
97,500 97,500

'X' and 'Y' sharing profits and losses in the ratio of 2 : 1. They agree to
admit 'Z' into the firm subject to the following terms and conditions :

(i) 'Z' will bring in * 15,750 of which * 6,750 will be treated as his
share of goodwill.

3608/(Set : C) P.T.O.
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13.

(8) 3608/(Set : C)

(ii)) 'Z'is entitled to %th share of profits of the firm.
(iii Furniture is to be depreciated by 5%.
(iv) Stock is to be revalued at * 7,875.

You are required to prepare Revaluation Account; Partners Capital
Account and Balance Sheet of New firm.

HYqT
OR

T G AERER & HQA Sy $ 3 R B TOF S HE B4 7
8

How would you calculate the amount payable to the representative of a
deceased partner ?

T -9
PART - B
(Tt @ra e foci Rl @ v
(Company Accounts & Analysis of Financial Statements)
ferig freer faseiwer & @13 & e i 1
Write any two significance of Financial Statement Analysis.
o freRer faseloer | o9 /m &9ed § 7 1

What do you mean by Financial Statement Analysis ?

14. ‘T8 @ fafRe 9 2016-17 & o 1 goemd wefdia e @

% f@hl = 3,50,000
g aadl = 20,000

3608/(Set : C)
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RS €k = 40,000

AT € = 26,000
g @9 = 66,000

i HE AU Fd BT 4
'S M' Ltd. supplies the following informations for the accounting year
2016-17 :

Total Sales =" 3,50,000

Returns Inward =" 20,000

Stock in the beginning = * 40,000
Stock in the end of the year =" 26,000
Gross Profit for the year =" 66,000

You are required to calculate Inventory Turnover Ratio.

15. AT AT JO0 SO A (S W) | gl JEgE & aee S 4

Mention the provisions relating call in arrear and call in advance on
shares.

16. 3T & s & H Uafe ey S9 sfsr A w Frifd B ™ & 4

Write journal entries of shares forfeiture, when the share have been
issued at discount.

17. T ffRs & Ryfy farer 59 yaR ®
FEIRET 1-1-16 |31-12-16| A | 1-1-16 |31-12-16

T Il 75,000|  75,000[3%S 7,500/ 5,400
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qH= 75,000/ 75,0003 &R 52,500 57,600
A2 @ 72,000|  73,500[&T® 37,500 33,000
ISR 54,000  61,500|9H 30,000| 45,000
TS &9 § FOT | - 30,000|%a" 75,000/ 82,500
% ¥ T 46,500|  37,500@shd 1,20,000/ 1,29,000

3,22,500| 3,52,500 3,22,500/ 3,52,500

af § ° 38,000 & aw R mm oA W UM @ omiee 1-1-16 @
40,500 AT 31-12-16 & 54,000 Tl SYH AHS JAE a0 TR HT 8l

8
The Balance Sheet of Rama Ltd. is as follows :

Liabilities 1-1-16 | 31-12-16| Assets 1-1-16 |31-12-16
Equity Capital 75,000 75,000(Cash 7,500 5,400
General Reserve 75,000 75,000|Debtors 52,500| 57,600
Profit & Loss A/c 72,000 73,500(Stock 37,500| 33,000
Current Liabilities | 54,000 61,500|Land 30,000, 45,000
Loan from Associate Building 75,000| 82,500

Company - 30,000
Loan from Bank 46,500 37,500|Machinery |1,20,000| 1,29,000
3,22,500| 3,52,500 3,22,500] 3,52,500

During the year ° 39,000 was paid as dividends. The provisions for
depreciation against Machinery as on 1-1-16 was * 40,500 and on 31-
12-16 * 54,000. You are required to prepare the Cash Flow Statement.

HYAT
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Ahe JaTE fexor & @41 3w & ? 8

What are the uses of preparing a Cash Flow Statement ?

18. = aRfEfedl § 3,000, 12% FO@ ° 10 §9E aW & e H SR

BT Bl JE&Ib H IO 4, 4
(2) ROHE H AMEA FHE W 50 g 10% TEeHR e #F aRed wh
ERIERI

(b) TG T MET 10% HFHFT W 100 It goar it § aRaas e
TqHAT 3T 20% Mg ) frifag fee

Pass necessary journal entries in the books of the Company in the
following cases for redemption of 3,000, 12% Debentures of © 10 each

issued at par :

(@) Debentures redeemed at par by conversion into 10% preference

share of * 50 each.

(b) Debentures redeemed at a premium of 10% by conversion into

equity share of * 100 each at a premium of 20%.

HYAT

OR
FOE & M B [HfeT ®ve ffy @ aofg fikm 8

Described the Sinking Fund Method of Debentures redemption.
1 -9

3608/(Set : C) P.T.O.
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PART - C

(Fgelea uiw)

(Computerized Accounting)

12. FGHHd A F o e [y 1

Write one advantage of Computerised Accounting.

13. HYEHT q@iHT IO § A9 F1 q9ed § ¢ 1

What do you mean by Computerised Accounting System ?

14. FYET AGHT B FT AATHAC & 7 4

What are the needs of Computerized Accounting ?

15. FYE A@iHT TOel Bl AT sy 4

Give the features of Computerized Accounting System.

16. S[C[EH at the Back End fohde 9K & 81d & ? 4

Explain the types of Database at the Back-End.

17. ®F S & Q@R Tl & 9o i 8
Explain the different methods of preparing form.
HYql
OR
qBds HA & A faftRl @ au st 8

3608/(Set : C)



(13) 3608/(Set : C)
Explain the different methods of Query.

18. Tesfic 71 B ? THH AT T 2,6
What is Spreadsheet ? Give its features.
HYql
OR
gesiic & IQA & au o 8

Explain the application of Spreadsheet.

3608/(Set : C) P.T.O.
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. Ww#waﬁ?##gﬁ%gﬁf?ﬂw#@ﬂwwgﬂfaaﬁ? TiET %
FYUT 59 T § 23 4 @ @hE 78 B aam

Before answering the question, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 33T -

(i)

(i)

(iii)
(i)

(v)

T8 J97-F T G 7 e & -

9T — & : STTTHE TeIT TF QEaTe @Il

T - § : F G GF [T el @7 [eayn

T - & : BRGNP A7)

T — & A 81 TR oTyH FT F T - F T T - T F @ T
9T BT &1/

T J97 &T 7 &1 HAF H9T F % ID THT 9T T &

g7 & 1 @ 6 J 12 77 13 % Ja7 15 @ 20 I 7 /@ qor g97
GET7T 10 714 T 16 3 7 40 @ 50 I 7 gy

797 F&q 11, 17 77 18 7 ol §¢ 397 &1

General Instructions :

(i)

(i1)
(iii)
(iv)
v)

This question paper is divided into three Parts :

Part — A : Not for Profit Organizations & Partnership Accounts
Part - B : Company Accounts & Analysis of Financial Statements.
Part - C : Computerized Accounting.

Part — A is compulsory. Candidates have to attempt any one part
from Part — B and Part - C of their choice.

All questions are to be attempted. Marks of each question are
indicated against it.

Give answer Question Nos. 1 to 6 and 12 & 13 in 15 to 20 words
and Question Nos. 7 to 10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos. 11, 17 and 18.
T -
PART - A
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(ST e o HEER @)
(Not for Profit Organizations & Partnership Accounts)
1. 5991 g H g9 BT 1
Explain Entrance Fees.
2. TEER GoE H Hi3 gF A Ay 1

Write any one importance of Partnership Deed.

3. WEERI & A% @ M ¢ 1

What is Partner's Current Account ?

4. 3 e M T F G & ? 1

What do you mean by Average Profit ?

5. @ oG 43 g F e A gy AR B G A o A R
4 H yas R a1 a-gi SIu S i) 1

'C' and 'D' are partners in a firm sharing profits and losses in the ratio of
4 : 3. 'E' is admitted for %th share in the future profits. Calculate new

sharing profits & losses ratio.

6. I T A1 age @I § B g S fomag) |

Write one distinction between Revaluation Account and Realisation
Account.
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7. T SOOI & 31 A, 2017 B TG A B AT 9 FAE GRT 36 R S 0 4

iy ' G
AT A CRE 54,000
A T | 28,500
EE| 99,000 | Aftwd HHM 60,000
fafam | = 6,000 | I ST & I || 19,500
1,33,500 1,33,500

(i) 3191, 2016 H < AH T ° 3,000

(i) @ffed MM 31 W™, 2016 H ° 45,000 H & T 31 HE, 2017 &
97,500 &l 2

31 T, 2017 H TG ¥ & U TI-2F QAT AR Hiferw

The following is the Receipts and Payments Account of a Hospital for
the year ending 31st March, 2017 :

Receipts ' Payments

To Balance B/d 28,500 | By Salaries 54,000

To Subscriptions 99,000 | By surgical
equipments 60,000

To Interest on By Balance C/d 19,500
Investment 6,000

1,33,500 1,33,500

Additional informations :
(i) Subscription received in advance on 31st March, 2016 * 3,000.

(ii)) Swurgical Equipments stock on 31st March, 2016 has * 45,000 and
on 31st March, 2017 * 97,500.
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Prepare Income and Expenditure Account for the year ending 31st
March, 2017.

8. P T WA 3 : 2 F U A @9 dicd §¢ HBRR ol "EEl dog § e
TIae ¥ 4

T & 60,000 I Al &7 A qor WL & g7 * 2,000 JiHTE B

WA TEe B M A AT A # e R T sEsas
Rt afafte B

Suresh and Ramesh were partners in a firm sharing profits in the ratio
of 3 : 2. The partnership deed provided for the following :

* 60,000 per annum salary to Suresh and Salary * 2,000 per month to
Ramesh.

The profits divided without providing for the above. Pass
Adjustment Entry.

9. @ R ‘O’ 3 : 2 % oUW ¥ Q-8B dfcd gL T ®H  AERER ¥ 3N
Wﬁ%W%W‘@’ﬁ%ﬁﬁﬂ%ﬂ%ﬂﬁ‘%’ﬁ?‘ﬁ’ﬁﬂﬂﬂ?%

M A 30,000 Tt & & F &R ° 10,000 @AM F U BH F THE A
HETH ST Hfafedt dfom 4

'K' and 'R' are partners in a firm sharing profits and Losses in the ratio

of 3 : 2. They admit P into partnership for %th share in profits which

he acquires equally from 'K' and 'R'. 'P' brings in cash ° 30,000 as
capital and * 10,000 as goodwill. Pass Journal Entries.

10. G T WA 2 : 3 § AT Sed gL WBHRR &1 31 AE, 2017 & I T &
TEIT H & fofg fomn o9 S Rafa faawer 59 yar o ¢
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Uik ki

TR P G| 27,600 | W FfmEw 24,000
WA #H | 15,900 | fFwEm 6,000
SEEIE 3,000 | 3ER 3,000
i 4,500

g% # Tws 9,000

46,500 46,500

il | agl 39 YR ©

@ © 5,700; W= GERET © 42,000; 36K 2,700 X €iF 4,200, FH
% OMER 5% FH W o1 T qeud & T 31 agal & 600 Bl

TGN AT AR it 4

Suresh and Ramesh are partners in a firm sharing profits and losses in
the ratio of 2 : 3. They decided to dissolve their firm on 31st March,
2017, when their Balance Sheet was as under :

Liabilities ) Assets

Suresh's Capital | 27,600 | Freehold
Assets 24,000

Ramesh's Capital | 15,900 | Investment 6,000
Creditors 3,000 | Debtors 3,000
Stock 4,500

Cash at Bank 9,000

46,500 46,500

Realised from assets as follows :
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Investment ° 5,700; Freehold assets * 42,000; Debtors * 2,700 and
Stock " 4,200. Creditors of the firm agreed to accept 5% less.
Realisation Expenses is ~ 600. You are required to prepare a Realisation

Account.
11. T 3R Wed & 31 =R, 2016 & Ry fFawer e G w2 -
FTENIT ‘ T
T & TR 90,000 | T 9,000
AT B TS | 45,000 | @A @9RE | 30,000
AT @ET | 45,000 | T 9,000
SRER 24,000 | €% 18,000
ERER 1,20,000
APps 18,000
2,04,000 2,04,000
T A AT H - oTguE 2 1 B 9 B el X T B wH § A &
W geqd gT

(i) @ 31,500 FHE AR BEH 13,500 IFH S D B B B

(if) rﬁrmﬁ%wﬁm%aﬁﬁﬁ%ﬂmwmwa@wﬁmawaﬁ?
e § TE W< B

(il) FER W 5% Um @ 2
(iv) &iH ® JTHEHT * 15,750 T & @

JTHeH @, R & Yol @ a° 75 EH B Rl fqEaRer dar it
8
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The Balance Sheet of Ram and Mohan as on 31st Dec. 2016 is given
below :

Liabilities ) Assets

Ram's Capital 90,000 | Goodwill 9,000

Mohan's Capital 45,000 | Freehold
property 30,000

P&LA/c 45,000 | Furniture 9,000
Creditors 24,000 | Stock 18,000
Debtors 1,20,000

Cash 18,000

2,04,000 2,04,000

Ram and Mohan sharing profits and losses in the ratio of 2 : 1. They
agree to admit Ravi into the firm subject to the following terms and
conditions :

(i) Ravi will bring in * 31,500 of which * 13,500 will be treated as his
share of goodwill.

(i) Ravi is entitled to % th share of profits of the firm which he
acquires equally from Ram and Mohan.

(ii) Furniture is to be depreciated by 5%.

(iv) Stock is to be revalued at * 15,750.

You are required to prepare Revaluation Account; Partner's Capital
Account and Balance Sheet of new firm.

HAYqT

OR
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T T AEER & H SAEal B aF TR & TE 9 B4 HT ?
8

How would you calculate the amount payable to the legal executors of a
deceased partner ?

A - §
PART - B

(Tt @ra e foi Rl & v

(Company Accounts & Analysis of Financial Statements)

12. foxiig ReRon & fsawer & ood @ o9 a1 9 § ¢

What do you mean by Tools of Financial Statements Analysis ?

13. fo<i foaent & fasauer & @5 @ 9o foRew 1

Write any two importance of Financial Statements Analysis.
14. = e § €ie AEd S S 4

% feshl = 7,00,000
%9 a9dl = * 40,000
g €6 = 60,000
Hfwm w6 = 80,000
fehl T HeheT AN & = 20%

Calculate the inventory turnover ratio from the following informations :

Total Sales =" 7,00,000
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Return outward =" 40,000

Stock in the beginning = * 60,000

Stock at the end =" 80,000

Rate of Gross profit on sales = 20%

3608/(Set : D)

15. s & = B W Afafte T s sf T W Frita R T84

Write journal entry of forfeiture of shares, when shares were issued at

par.

16. HUHI & P3 T AT R 4
Write any four features of Company.
17. T faftRs & Rafq fawor = 2
FTEIIET 2015 | 2016 | F®RE | 2015 | 2016
qHa iﬁﬁ 37,500| 37,500 %S 3,750, 2,700
qE= 999 37,500| 37,500[39_R 26,250/ 28,800
T2 Grem 36,000, 36,750|%® 18,750/ 16,500
ISR 27,000 30,7509 15,000/ 22,500
Tedd I 9 RO - 15,000|9a 37,500 41,250
% ¥ = 23,250| 18,7509 60,000 64,500
1,61,250| 1,76,250 1,61,250| 1,76,250

¥ F ° 19,500 amier Rar mm At & Um & fw om@ew a 2015 §
20,250 B @1 2016 & 27,000 H 2| YD Jhe YaTe faavor R & 231 8

The Balance Sheet of Krishna Ltd. is as follows :

Liabilities

2015

2016

Assets

2015

2016
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Equity Capital 37,500 37,500(Cash 3,750 2,700
General Reserve 37,500 37,500|Debtors 26,250 28,800
Profit & Loss A/c 36,000 36,750(Stock 18,750 16,500
Current Liabilities | 27,000 30,750|Land 15,000 22,500
Loan from Associate - Building 37,500, 41,250
Company 15,000

Loan from Bank 23,250 18,750|Machinery | 60,000| 64,500

1,61,250| 1,76,250 1,61,250] 1,76,250

During the year ° 19,500 was paid as dividend. The provision for
Depreciation against Machinery as on 2015 was *~ 20,250 and on 2016 °
27,000. You are required to prepare Cash Flow Statement.

HYqT
OR

Ahe YaTe faawor | o7 o1 995d & ? SO |iHeT & auid i
2,6

What do you mean by Cash Flow Statement ? Explain its limitations.

18. fr=1 aRfRef™l & 1,900, 7% FOO ° 100 YA a1 H SNEA B SfafcEr
BT Bl JE&Ib H IO 4.4

() RO & SNET @ W, © 100 ad T 10% RO H UREd &
fpam T AT O 5% Herdl W R R T

(i) STl H AMET 5% HERET W, * 100 a1 8% TEHR el F aRacH o
o Tam iR e T W R T

Pass necessary journal entries in the books of a company in the
following cases for redemption of 1,900, 7%. Debentures of * 100 each
issued at par :

(i) Debentures redeemed at par by conversion into 10% New
Debenture of * 100 each issued at discount of 5%.

(ii)) Debentures redeemed at a premium of 5% by conversion into 8%
preference shares of © 100 each at par.

HAYqT
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13.

14.

15.

16.

17.

(12) 3608/(Set : D)
OR

RO e B G SO & BRarel’ @ [ @ aie it
8

Described the 'Open Market Operation' method of Debentures
redemption.

-9
PART - C
(Fgeiga qgie)
(Computerized Accounting)

FYG i | AT FT GHEA © 7 1
What do you mean by Computerized Accounting ?
FHRGEBA AT TUTl bl g [T feieg 1
Write one feature of Computerized Accounting System.
RetRmEa S8BT & oY+ a6 o 7 4

What is referential integrity ?

GUI (Tfhshd o 3%d) W T dferay feweft fofew) 4

Write a short note on GUI (Graphical User Interface).

Uq TH-UHE & dis g off (Fe) fafag) 4

Give any four components of MS-Access.

T UH-UGRd % 8 aifciel s & U & 9o $i 8

Explain the procedure for creating tables in MS-access
basics.

HYql

OR
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Rae a9 & ff=T ot &1 avie i 8
Explain the different methods of preparing report.
18. Tesfic 71 B ? 6 [ANa Sy 8
What is Spreadsheet ? Give its features.
HYql
OR

FIH FA AR dfThe FA H AR TR 8

Differentiate between Computation Functions and Logical Functions.
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